1
Time: 10 Minutes Paper G. Science 6th Total Marks: 10

5th Month, 2nd Week, 2nd Day |Syllabus: Unit # 9: Introduction, Vocabulary |

Q.No.1 Encircle the correct answer from the following choices. (1x6 = 6)
- '@u’m}Zu f/,lu“‘ /C..«l’s‘“'l(...«b?..://)cu:‘l 5l

1. The source of electric charge is: :4"_,.33/5( Zg/LwJ}'g /
(a)|Fuse 2| b)|cell F
(c)|Switch é/ (d)|Electric Circuit ."z?J/)"g /

2. Which of the following is a basic property of matter?
?c"..:f:."l}d)gd/ul.(fufcu.‘.'u’

(a)|Colouration =5 (b)|Density &
(¢)|Charge &k |(d)|Melting point LEly e
3. How many types of charges are there? ?ujrl;"’f/ J 7l
(a)|Two 2|(b)[Three JF (¢)|Four J .lg (d)|Five é‘L.

4. Which of the following is a positively charged particle?
%.b‘n(gzk;‘?.){{gﬁ&cc}fcu:‘l 3109
(a)|Electron u,}g I|(b)|Proton uj)4

(c)|Neutron s/%|(d)|Neutrino /%

5. Which device open or close the electric circuit?

St Ll OB T

(a)[Battery $4|(b)|Switch by
(c)|Fuse 7 (d)|Circuit breaker /:/."x;f

6. By the gain of electrons, particle aquires charge:

e bbby fle i J Pl

(a)|Positive }?.J{f (b)[Negative >’.’4’~C
(¢)[Neutral J4|(d)[None I df
Q.No.2. Write the short answers. 2x2=4) -u.;“’d c.’«l;b?/‘?

(i) Why does the atom remains neutral? el BEARY (=

ISy AN N

(ii) Define static electricity.
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